1-322

oobodeanonoooOoO@bzoOsen)

()
1
2
126m 42m 1/5.3 CASE1
3
- 3@42000=126000 PKN,
| N | |
g = === i ==
g~ N N0
CASE2
-1 3CASE o 3@42000=126000 PKN
N |
g N} N N
CASE1
CASE2 CASE3
3 3@42000=126000 PKN,
CASE3
)
CASE2 -1
3CASE
-1 P=1000KN
3
-2 -3
CASE3 2 1
CASE1 2 CASE3
4-14-10 TELO3 3945 2011 FAX03 3945 2010

~643-



1-322 oobodeanonoooOoO@bzoOsen)

CASE2

CASE1 CASE2 3 |
2
CASE3
CASE3
1
CASE1 2 3 1 1.02 0.97
P=1000kN
-4 CASE1 2
CASE3
400kN m
4
3CASE
1)CASE2
CASE3
2)
CASE3
3)
4)
5

-644-

it

I
—=fth ——
T 10001n-
2200kN'm
10kN-m
CASE?2 1500kN-m

PkNl
P
)

i iy \‘\‘\ il T

— A i
1200kN:m %\
2100kNm
10kN-m




